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1"'2%7 says, both of them, etc.  — 5512 2751w 9MIN 792 32 279 929

OVERVIEW
A Rm0Y 21w is an object (#2) that came in contact with another object (#1)
which became Xnv, by being in contact with an AXmL7 2X; a yw for
instance. There are many instances where the 2°m5n decreed that certain
items are a IRMVY 7w, for instance one’s hands, etc.
A oy 7av is one who was Rnv and was INRAWA 92, and is waiting for
sunset, in order to become completely 717v, and to be able to eat 121 7N,
The 21 7120 is considered a I8MLY *1w, which means he cannot be 1211 Xnun,
but he can be (XN*7IRTNM) 72170 20w, If a v 72w touches 71N the 721N
becomes '®nv' only to the extent that it is forbidden to be eaten and it has to
be burnt, but it cannot be Xnvn other 77170.
The 0°2°7 of a 01" 712V and a n8MW? "2 are identical, except that when a "W
TRMYY touches Ppwn — liquids, even if the Ppwn are 1", the 1PPwn become a
(132972) ARMLY MWD, and can be Xnvn other PPwn 1Y even if they are
79w, but if a o1 712 touches pwn, even if they are mann, they do not
become a RML? WX Instead, if the Ppwn are P27 they remain v, and if
they are 2170, they themselves become (Xav) 2109, but they cannot be Xnun
others.
moon will explain why the Xin of the 73wn, concerning the NP9 between
127 1"2M, speaks about a o1 12w specifically, and not a nXmWY W in
general.

— NPYN YN 1NYT YRYUN 1YW VP XD D D10V VPRI
Since the Xin mentioned specifically a 21° »12v and did not mention a 1w

TRMYY in general, we can infer from this that oil is considered a liquid in
reference to XM °17, i.e. that when it comes in contact (even) with a 8% *3w, the oil
will become a nxmL? MR, This will explain why he mentions a 01 912v specifically and
not a 7NML? " in general -

— NYNN HPIY PPYN NNOVM INN YT
For any other %12 besides a 01 912v is X»w» qualified liquids to become a

IR2IU MR, Once the oil is a xS PRI it will be Xnun the wine, regardless if they
are considered connected as one, or not. Therefore everyone will agree that the oil is Xnun
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the wine'. By a o 12v however, since it is not 72°1n N> PPWwn Xnvn, then the wine
cannot become 109 unless the wine and the oil are considered connected as one, and they
both become simultaneously 2109 by the touching of the o1 12v.

— (w1 2,7 97 “OINDOT NP P93 YN 19
And this is also how it seems from the first P99 of 2’705 noomn, that oil is
considered a qualifying liquid for axm °1°7.
— DNV OV XNVYYD 33‘\1!’\))3)3 NYPY N
And the difficulty that there is with this, from that which we learnt in n2o»
mman, I explained it there in *asnop noon

SUMMARY:

Oil is considered a 7pwn in the sense that if a XMWY *3w (besides a o1 712v)
touches it; the oil becomes a nRAW> NWRY and can be Xnvn other 190X
TRWN.

THINKING IT OVER
1. What would be the 1°7 of the wine, if a R 21w touched the 0il?’

2. Why is the np12rn concerning 1 3"y Axw 12w and not 2°n 3"y AXW w?

3. Why is there a difference between a 0 7120 and a nXMLY "W regarding
79°mN NAD PRwn 1RIN?°

' See “Thinking it over’ # 1.

* The xm3 there is discussing a case of a metal lamp (that came in contact with a N X»w) which contains oil
(which was touched by a 01 912v). The question is raised what I8 the lamp can add to the oil (which is
already 7109 by touching the v 912v). If we are discussing the n¥mw which the oil can impart to other 721X
(112771) TPwAY, it need not be touched by a lamp which came in contact with a n» Xnv, even if it came in
contact with any WX or "1 it will be X»v» other PpwnY 12 since we learnt in a mwn that DX 50107 93
NWRI NYA? Ppwn 8non 307, It is evident from that X220 that 12w is a apwan.

3 See there on X,X? 77 that wine is considered a liquid but not oil (nor honey).

4 See ¥7ox 11"7 'on 2,7° 77, that when the X 3 in M that says that oil (and honey) is not a 7pwn, it is
concerning oil which congealed (became hard) and later melted, but oil which never congealed is
considered a npwn.

> See (footnote # 1 and) nuX now ,w"RA7 '0MN.

® See 107 "7 2,7 DMOD "N
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